©
IEA. / @ D' Multiplicér decimaler med ti

Navn: Dato:___ Score:____
9,451 x 1000000 = 9,432 x 1000000 =
1, 569 x 10000 = 3,051 x 100 =
7, 846 x 10000 = 1,39 x 1000 =
7,641 x 100000 = 4,239 x 10000 =
1,984 x 10 = 7,589 x 1000000 =
10, 176 x 10000 = 1,67 %10 =
6,522 x 10 = 3,985 x 1000 =
9,946 x 1000000 = 6,68 x 10 =
8, 842 x 1000000 = 4,978 x 1000 =
9,631 x 100000 = 10, 521 x 10000 =
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©
IEA. j @ D' Multiplicér decimaler med ti

Navn: Dato: ___ Score:___
9,451 x 1000000 = 9451000 9,432 x 1000000 = 9432000
1, 569 x 10000 = 15690 3,051 x 100 = 305.1
7,846 x 10000 = 78460 1,39 x 1000 = 1390
7,641 x 100000 = 764100 4,239 x 10000 = 42390
1,984 x 10 = 19.84 7, 589 x 1000000 = 7589000
10, 176 x 10000 = 101760 1,67 x10=16.7
6,522 x 10 = 65.22 3,985 x 1000 = 3985
9,946 x 1000000 = 9946000 6,68 x 10 = 66.8
8, 842 x 1000000 = 8842000 4,978 x 1000 = 4978
9,631 x 100000 = 963100 10, 521 x 10000 = 105210
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